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General Instructions :

(1)  All questions in both the sections are compulsory.

(it)  Marks for questions are indicated against each.

(iii) Questions No. 1 -5 and 17 -21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

(iv) Questions No. 6—-10 and 22 -26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each. '

(v)  Questions No. 11 —13 and 27— 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each. '

(vi) Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each. '

(vity) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

e Rt AR :
G) @ guel F g g S § 1
(i)  I9% Fv7 & [AYRT 3% 39 g R T §
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SECTION A

g us A
1. Define a budget line. | . 1
o [ar H ufiamn S |
2. What is meant by inferior good in economics ? 1

sdyre # fredg (afean) awg & F@r oid @ @ 2

3. In which market form can a firm not influence the price of the

product ? o

- {59 THR F TER ¥ UH ®F 3 @ wimg B Ed @ R gahar ?

4. Define monopoly. | _ 1
THER I uRumEr AR |

5. What can you say about the number of buyers and sellers under
monopolistic competition ? 1

Teifyee sfadfiar § 39 shaeli 3R fashaei & 9= & aR § F1 F@ Gad
g ? : _
6. Explain the effect of the following on the price elasticity of demand of

a commodity : : _ 3

(1) Number of substitutes

(i1)  Nature of the commodity

UF G A F S A" W i) § 99E § e #ieg
()  wfaTE Il & -gE
(i) =% I Hf
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10.

58/1

Explain any two causes of ‘increase’ in demand of a commodity.

OR

Explain the inverse relationship between price and quantity

‘demanded of a commodity.

ag] & A F ghg & R A SRl @ e FHNY |
TF 9% F HAd IR IS AO-AE H fawia g @ @ren S |

A firm’s average fixed cost, when it produces 2 units, is Rs. 30. Its
average total cost schedule is given below. Calculate its marginal cost

and average variable cost at each level of output.

Output (units) 1 2 - 3

Average total cost (Rs.) 80 48 40

2 THRAN F IARA FH W TH GH F 3igd e Fd 30 % 7 | IHS Id
T AN ST A T R | SR F U0 WX W IHH GHN A SR
g qRadl o &1 9fieed FIfST |

IR (3FEAf) 1 9 3

aﬂwww(ﬁ) 80 i R KRS

Total revenue is Rs. 400 when the price of the commodity is Rs. 2 per
unit. When price rises to Rs. 3 per unit, the quantity supplied is

300 units. Calculate the price elasticity of supply.

IR F 2 % WG IHE UG W T GART 400 T, 3 | 99 FNG TgH 3 5. 9
T @ ST €, W LE-AE 300 TR B W B | Y H Fwa A H 9o
FIfST |

Why is the number of firms small in an oligopoly. market ? Explain.

IUMHER aeR § GHf & §© &9 & gl 8 7 GHIRET |

3



'11. Explain the problem of ‘how to produce’. 4

OR
Distinguish between microeconomics and macroeconomics. Give
examples.
‘T IO FU F OGHRT F AT FHifST |

Yl

=y spdvre R wafE srdwre # Se ST | TR ST |

12. When price of a commodity falls by Re. 1 per unit, its quantity
demanded rises by 3 units. Its price elasticity of demand is (—)2.
Calculate its quantity demanded if the price before the change was
Rs. 10 per unit. 4

S TF g% H A 1 F UG THE G 8, @ HH WA 3 TEE &g Wl
élmmﬁmﬁ?ﬁa(m%]aﬁnﬁﬁqﬁaﬁqﬁq&floa yfq g FiHd
W IHEH AN-AET & e &S |

13. How does the equilibrium price of a ‘normal’ commodity change when
income of its buyers falls ? Explain the chain of effects. 4

w9 qbgﬁﬂ'gﬁd Fud ¥, 3G HAR F T FY B U, FU yRadd
A@T & ? B o Y9El $ H@e IR |

14. State whether the following statements are true or false. Give reasons
for your answer : 6

(i) When marginal revenue is constant and not equal to zero, then
total revenue will also be constant.

(11) As soon as marginal cost starts rising, average variable cost also
starts rising.

(iii) Total product always increases whether there is increasing -
returns or diminishing returns to a factor.

I IW F g FROT W g AR 6 Fefafaa wew g8 & @ v

() v G dwf fer e @ i = 7 A, o o g off fer g
(i) 9 & du A Sl avdt 8, 3i9d uRedl ara off 9gq ot 2 |
(i) @8 FRF & FEAE WG & a1 I Fah &, FT S THIM @l 7 |
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15.

16.
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What are the conditions of consumer’s equilibrium under the
indifference curve approach ? What changes will take place if the
conditions are not fulfilled to reach equilibrium ?

ﬁwwi’aﬁx%mﬁamﬁm%waﬁﬁw%7ﬁﬁﬁﬁqﬂq€r
B @ Gger o W § wa wRedd 8 2

From the following schedule find out the level of output at which the
producer is in equilibrium, using marginal cost and marginal revenue
approach. Give reasons for your answer.

Price per unit Output Total cost
(Rs.) (units) (Rs.)

8 g 6

2 11
6 3 15
5 4 18
4 5 23

OR

Explain the law of returns to a factor with the help of total product
and marginal product schedule.

ﬁ%ﬁﬁagw’i@dmmﬂaﬁ'wmaﬁmmwmé@ﬁ#ﬁﬁﬁwﬁ.
¥ @ ara R i e fafy @ T &t | ST SR % foau SRoT

T |

AT 9fd 3R | SARA | FA Ard
(%.) (30E) (%.)
8 1 6
T 2 11
6 3 15
5 4 18
4 5 23
gt

¥ 3R IR G IR I F GeHdl ¥ UF SN % Wowa F frm &
= FHT | ' |



- SECTION B

Qg 9

17. Give the meaning of money. 1
S H Y qaRY |

18. What is meant by revenue deficit ? 1
TS W w1 F A der g 2

19. What is ex-ante aggregate demand ? Vs
TN G W = B § 2

20. Give the meaning of inflationary gap. : _ 1
hifas TUd &1 34 FaRy |

21. State two sources of demand for foreign exchange. 1

ﬁ%&’ﬁﬁﬁm?ﬁwﬁ%a@ﬁwl

\

22. Distinguish between real and nominal gross domestic product. 3
OR
Giving reasons, classify the following into intermediate and final
goods :

(1) Machines purchased by a dealer of machines.

(i1) A car purchased by a household.
aEfad 3R Hiss T W 3w § 9T FiWe

HAgan - .
Waﬁﬁgq,ﬁmﬁfﬁaﬁaﬁmﬁfaﬁ?amaﬁaﬁﬁ#ﬁqmaﬁﬁrq:
(i) W & S gR wdd T wR
(i) & 9RER T wlE T FR |
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23.

24.

25.

26.

27.

28.

58/1

Explain the ‘banker to the government’ function of the central bank.

FET T F WER F R F FE S ARA FIST |

Explain the allocation function of a go#emment budget.

wﬁm%m(mﬁ?)w?ﬁmml

Distinguish between autonomous and accommodating transactions of
balance of payments account.

T Yo T F WEd SR guEa eeEn § 6 i |

Giving two examples, explain why there is a rise in demand for a
foreign currency when its price falls.

2 I 3 T HIRT 6 R gm # FHd Fed W IWH T & sed
21

How does a commercial bank create money ?
OR

Explain how do ‘open market operations’ by the central bank affect
money creation by commercial banks. :

HEHIE 9% q& F i FH Far @ 2

HAgdr _
FE 9% F Gl IER FRAR FEEIGE dB g FC 9 A gz fmr @
FH wfed F 8 2 WHHRY | '

Giving reasons, state whether the following statements are true or
false : . )

(1) When marginal propensity to consume is zero, the value of
investment multiplier will also be zero.

(ii)  Value of average propensity to save can never be less than zero.

FT 34 g dARY f frefatad o w6l € A 7o
@ v e e g g A 2, @ FEw e g o 9 @ o
(i)  offgd s=a Yo &1 9o7 St off 3= ¥ F9 T & g |



29. Distinguish between : : 4
(1) Capital expenditure and Revenue expenditure '

(ii)  Fiscal deficit and Primary deficit
frafafea § 98 T

@ ST = SR T o

(i) TSN e R WA e

30. How will you treat the following while estimating national income of

India ? Give reasons for your answer. 6

(i)  Dividend received by a foreigner from investment in shares of an
Indian company.

(ii)  Profits earned by a branch of an Indian bank in Canada.

(iii) Scholarship given to Indian students studying in India by a
foreign company. -

OR

Explain the problem of double counting in estimating national
income, with the help of an example. Also explain two alternative
ways of avoiding the problem.

W.ﬁmmwwmwmﬁmﬁﬁaﬁ%mawéﬁwaﬁ?
I IW & faw FRoT T | '

(1) wﬁ@ﬁﬁwww%éﬁﬁmmﬁ%mﬁwml

(ii) el § TH 9RAE 9% @ UK g A @ |

(i) U st 9 g0 9K # vg ® 9RaE famidE & § T sma |
g

TP 3@ & SAF o H I & QRd 0 S GEEl Uk ISR 6
TAYET | 39 9HE] ¥ 999 & o defcys 3UF ff FaRy |
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31.

32.
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In an economy the equilibrium level of income is Rs. 12,000 crore. The

ratio of marginal propensity to consume and marginal propensity to

save 1s 3 : 1. Calculate the additional investment needed to reach a

new equilibrium level of income of Rs. 20,000 crore.

s e § oMg & dqed WX 12,000 WT E 2 | e Sum i ek
T 9 g & SUE 3 : 18 | 20,000 F$ T AT F AT Ygeld T W
B ¥ oy sTws sffie fEw & 9Reed i | '

Calculate (a) Gross domestic product at market price, and (b) Factor

income from abroad from the following data :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi).

(xii)

Profits

Exports

Compensation of emplpyees

Gross nétional product at factor cost

Net current transfers from rest of the world
Rent. :

Interest

Factor income to abroad

Net indirect taxes

Net domestic capital formation

Gross fixed cépital formation

Change in stock

10

3+3=6

(Rs. in crores)

500
40
1,500
2,800
90
300
400

120 -
250
650
1700

50




frefafed sfeel ¥ (37) IR Jod | G6d R 3@E, R (@) G0 ¥ IS
AT H MFaT FEY -

@ . 500
Gi) fafa - 40

(i) wHRE w1 o 1,500
(iv) RS &G | T6a TPE 39R 2,800
(v) 9 frea ¥ e <] ST 90
(vi) fomam 300
(vii) - - | 400
(viii) FRel B I @ 120
(ix) {99 smcged = 250
x) fraa e g& fmio | 650
(xi) THa Rl ¢S o 700
(xii) wiF § e 50
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